IMAGING

LI-JEVA-IMX390-GMSLZ2-xxxH

Address: Phone: Sales:
910 Auburn Ct +1(408)263-0988 sales@leopardimaging.com

Fremont, CA 94538 Fax: Support:
USA +1(408)217-1960 support@leopardimaging.com




—= KEY FEATURES

Compatible with NVIDIA® Jetson™ TX1/TX2
Developer Kit

Supports one GMSL2 camera

Sensor: Sony Diagonal 6.67 mm (Type 1/2.7)
CMOS RGGB image sensor IMX390

Active pixels: 1937 (H) x 1217 (V)
Pixel size: 3.0 x 3.0 um

Color camera

Lens: FOV H 60° /120" / 200°
GMSL2 Serializer

Includes De-serializer to convert serial interface
to MIPI interface

Length of Fakra cable: 3 meters
Supports multiple length Fakra cables
Length of the I-PEX cable: 300 mm
Supports M12 lens

Allows customization

Part#: LI-JEVA-IMX390-GMSL2-xxxH

060H LI-JEVA-IMX390-GMSL2-060H

120H LI-JEVA-IMX390-GMSL2-120H

200H LI-JEVA-IMX390-GMSL2-200H

—e

—e

% I M A

APPLICATIONS

® Automotive ADAS

® 1080P Video Applications

BOM

Nvidia® TX1/ TX2 Developer Kit is NOT included.

# ltems QTY
1 LI-IMX390-GMSL2-xxxH 1
2 FAK-SMZSMZ 3M 1
3 LI-GMSL2-IPX-DESER 1
4 FAW-1233-03 cable 1
5 LI-JTX1-MIPI-ADPT 1
6 LI-PS12-01 1

Compatible with NVIDIA® Jetson™ TX1/TX2
Developer Kit

G

I N

G



! IMAGING

LI-IMX390-GMSL2-xxxH

—e KEY FEATURES —e DEFAULT IMAGING DIRECTION

Sony Diagonal 6.67 mm (Type 1/2.7) ® Thelloao: leonard
sensor CMOS Image Sensor IMX390 . . Top (Default

. Imaging” is on the Imaging
Optical Format 1/2.7" 5 Direction)
Resolution 1937 (H) x 1217 (V) (active pixels)

Pixel Size 3.0x3.0um
Data Format 20-bit / 12-bit RAW data & a

Color / Mono

Color sensor

Lens FOV H 60° / 120° / 200°

Serializer Maxim MAX9295A/B * CABLE CONNECTOR
Power Supply Range 9 ~19VDC ® Housing Connector:

Interface GMSL2 Serial interface FAKRA Z Type

Operating Temp -40°C ~ +85°C ® Cable Length:

Storage Temp -40°C ~ +85°C 3 meters

Weight ~45¢g ® Cable Part#:

Part#

LI-IMX390-GMSL2-xxxH

FAK-SMZSMZ-3M




<X

LI-IMX390-GMSL2-xxxH

—e  DIMENSIONS: LI-IMX390-GMSL2-060H

4-M2x0.4
Effective depth of
thread 5.0 mm

252015 @ 30 £020@

11 20.10 20.303) 9.92 +0.10

25 +0.15@
.96 o)
g
i 3
|
|
Leopard
Imaging

$_—J M12x0.5

*  ® marked are important
sizes.

Tolerances for others
unmarked are £ 0.3 mm.

022 +0.15
@ 17.50 +0.15
1
|
]

I
I

Unit: mm
(50.96+0.50 REF)
—e  DIMENSIONS: LI-IMX390-GMSL2-120H
4-M2x0.4
i 25 +0.160 Effective depth of 11 2010 £0.30®) 9.92 £0.10 300200
—(® &)
8.78
@ £
il ® 750 b=
5 | E
9 - Sl
w
g[ M12x0.5
S N —
4R 2/
NOTE:
un Ly
= - N = * ® marked are important
m E Slzes.
s ® » Tolerances for others
unmarked are £ 0.3 mm.
(47.9820.50 REF) Unit: mm




LI-IMX390-GMSL2-xxxH

Leopard
By

—e  DIMENSIONS: LI-IMX390-GMSL2-200H

)
&
Pt
s,

25 +0.15 O
o)
™~
un
=]

(O

10.96
]
&

4R2

4-M2x0.4
Effective depth of
thread 5.0 mm

9.92 +0.10

30 +0.20 @

25 +0.15@ / 185 . 202040303

Leopard
Imaging

M12x0.

(39.79+0.50 REF)

@22 +0.15
@15 +0.15

30 +0.20 @

NOTE:

® marked are important
sizes.

Tolerances for others
unmarked are £ 0.3 mm.

Unit: mm




Leopard
cckivey

LI-IMX390-GMSL2-xxxH

LENS INFORMATION

xxxH refers to 060H (FOV H 60°), 120H (FOV H 120%), 200H (FOV H 200°)

LI-IMX390-GMSL2-060H

Lens EFL: 6.0 mm

Aperture, F/#:1.8

Field of View (FOV): 74.5° (D) / 60.6° (H) / 36.1° (V)

Mount: M12

LI-IMX390-GMSL2-120H LI-IMX390-GMSL2-200H

Lens EFL: 2.8 mm Lens EFL: 0.95 mm =*5%
Aperture, F/#: 2.0 Aperture, F/#:2.0 + 5%
Field of View (FOV): 148° (D) / 122° (H) / 74° (V) Field of View (FOV): 200° (H)

Mount: M12 Mount: M12




LI-JTX1-MIPI-ADPT

L
Leopord Imaging Inc.
LI=JTX1-MIPI-ADPT REV1.2

E204460

—eo |NTERFACES
Interface J1
B Part#: 20525-030E-02 MIPI MODULE
B Number of Positions: 30 y
H Pitch: 0.4 mm MIPH D3PS MIPI1_D3P 30 a3
BN WMIPTT_DaN 29 34
| Matlng |-PEX cable: FAW-1233-03 (300 Connected with MIPI1_D1P E t::EH Blﬁ g? 35
MIPI1_D1IN
TX1l board - 26 31
mm) MIPI CP SS MIPI1_CP 25
CP & WMIPTT_CN 24
7 |1 TX1_TEST1_1v8 Ry WIPTT_DOP 23
MIPI1_DONSS- AUZIRCLL =
P DIP<S WIPTT_D2P 21
5 ] 1 TX1_TEST2_1v8 -D2P o2 MIPTT_DZN 20
. ;:J:P{‘]g\?ﬁg ' TAM VSYNC i)
CAM_SCL1SS LR 18
8 ] 1 TXI_TEST3 1v8 AV e (8 CAM_SDAT 17
A g CAM_RSTT 16
- 7 CLKINT 15
7711 FLASH EN N FLASH EN 14
| I -~ FTLEg%’;_EG‘ e TR TEST3 1VE 13
Loy S (¢ TXT_TESTZ 1VA 12
- Ve TXT_GPIOZ 11
. Té;__rGP'C\’f C TX1 TESTT 1VE 10
v_15-TESTI VRS TXT GPIOT 5
v 1_3\?" - 8
V_2.8VA R1 0 7]
R L A —
T RY 0 5 32
ANAN 3
R0, O - 3 36
VN t b =
1 1 38

20525-030E-02

1]||l




LI-JTX1-MIPI-ADPT

—eo |NTERFACES
Interface J2
W Part#: 20525-030E-02 MIPI MODULE 2
52
B Number of Positions: 30 M2 D3> Mipiz D3P 30 3
B Pitch: 0. MIPI2_D3N 22 MIPTZ DIP 28 35
Pitch: 0.4 mm mﬁg-gm S MIPTZ DTN : 27
: - 76 31
B Mating I-PEX Cable: FAW-1233-03 (300 MIPIZ CP MIPI2_CP ‘[ll 25
1 TESTS MP-CP & MIPTZ CN 77
R MIPI2_D0P NPI-DON 5
1 TESTB MioE-DoR WP 2P 71
MiPi2_D2p WPz D2N 30
MIPi2 D2NGE—SPTTIK i 0 TESTS 19
Eﬂ CAM SCL2 CAM_S 18
CAM_SCLZ CAM SDAZ 17
A R CAM RSTZ 16
0] 1 TESTS CLKINZ 15
' FLASH EN 14
—SPIWMISO_Ri3 . 0 TEST6 13
gﬁ:-mg’g N Ri 0 TESTE 12
_ = 71
gﬁ?*gg 03P s m 0 TEST? 10
v 18V -|1'2“r TX1_GPIO4 :
V_2.8VA R2 0 7]
V3 5v0 T T RM{} 3
R 0 5 32
T T B AN 2
X : RiTl. .0 3 36
VAN, ? 5 =
J‘:‘ J:_ _Liﬁ ' 1 N
5
20525-030E-02
AUF PAUF B2uF
Interface J3
W Part#: 20525-030E-02
J3
B Number of Positions: 30 I Mipla_DoP 30 33
. _D3P o2 73 D3N 29 34
B Pitch: 0.4 mm MIP DI MIFIS TP 28 35
MPEDINGS MIPTS DIN 27
B Mating I-PEX Cable: FAW-1233-03 (300 g MiPI3_CP % =
MIPI3_CP >» MIPT3 CN 24
MIPI3_CN
mm) 1 TESTO MIPI3_DOP § mli %E g
EI— MIPI3_DON e 028 =
MIPI3_D2P 2 MIPT3 2N 5(1)
MIPI3_D2N =
1 TEST10 _D2N o2 0 TESTIZI0
i e— GPIO_BAK 2 A Y 18
_ CAM SDA3 17
CAM_SDATSS =
1 TEST11 oA ek TAM RST3 16
= 7 CLKING 15
FLASH EN 14
7] 1 TEST12 TESTI0 3
TESTO 12
TX1_GPIOB 11
TX1_GPIOG)> TESTI 0
v av“'-‘l'z‘" TX1_GPIOSS TX1_GHIoS :
V_2.8VA R3 0 7
R 0 5 32
AN 3
R1Z. . 0 — 3 36
AV t 5 37
t 1 38
20525-030E-02

||I




LI-JTX1-MIPI-ADPT

—e

INTERFACES

Interface J10

Part#: QTH-060-01-L-D-A
Number of Positions: 120
Pitch: 0.5 mm

Number of Rows: 2

Vertical Mating connector of Jetson TX1 J22
QTH-060-01-D-A

MIP11_DOP P, :°P 1
MIPH_DON
MPI1_CP
5
MIPI Channel A e i
MPH_D1P MPI1_D1P
MIPTT_D1N =
— Mtz Do
MIPE_DON
p
MIPE_CP &_mmpg C\,
MIPEZ_CN =
MIPI Channel - Fr—
MPE_D1P -
MPE_D1N L _—
MIPIS_DOP =
MIPG_DOP — =
MIPG_DON ]
MPI3 CP
MIPG_CP
MIPG_CH 3@" =
MIPI Channel up pip S MPEDIP
MIPG_D1N = — |
+—=
ST
54
28] 1 TX1_UART TXD 61
Er 1 T UAF 1]
85 |
67 ]
69
+—
7
CAMI_SCL 75
SN SR T
V_ZEVA T
T i 5
TX1_GPIOT LNl &
84 |
CLKIN L] m.g;
CAM_RSTZ ACLE N
v_tgy GRS -
T s |
B Y o
— T E 103
svg THI_GPICZ —rErrerr 2
GEN SO 107
108
11|
1137
157
] Tx1 TEST1 v 7
_TEST1_1va k
. ?] TRT GPioa 18
121
125
25
127

INS17252480
war
¥ nor
Jigoueon
[ o5 mm G Soip fgh Speed
Ground Plans

e Terminal St

121

127

o0
np

(3

it

ﬂfﬂhé;l

MIPIZ_ D2P E

MIPIZ_D3P
kil

MIPI3_D2P
L

)1[[
& MR

il

t

zjéééﬁaa

MIP11_DZP MPI1_D2P
MPI1_D2N
D —¢¢mei_D3p
MPI1_D3N

MIPIZ_DzP
MPIZ_D2N

MIPI2_D3P
MPIZ_D3N

MPI3_D2P
MPI3_D2N

e —¢CMPIs D3P
MPIS D3N

CAM_WSYNC

TENT_PWON

FEZ, ~ 2

ERAA

CAM RST3

T 5P

J

V_1AY

[zl d el

EHEE

1 GPK

THT

o4
TESTI_IVE

;191:-;1

V3

TXT

_TESTZIVE

|

VD

122




LI-JTX1-MIPI-ADPT

—e DIMENSIONS

A
o
< (6)1.6 £0.16
g . T .
N“
M ”
® °
™
o H oooo
+ e
o
o
A &
? 4.27
(8.TTREF)
-
AN
b-ﬁh
O
] (o .
N mooo 5 lum:mla 0 T E a :J
0 —mm w
A B o
Ly 1
1 O rm G — x
L *
w (g
o L
17.5 (40.01REF) I;-
Lo

® marked are important sizes.

» Tolerances for others unmarked are + 0.3 mm. Unit: mm




@ IMAG

FAW-1233-03 Cable

I N

G

—e MECHANICAL DIAGRAM

| B-Sidle
A-side
}’ connector

o Pin No.

WIRING

B-side
connector
Pin No.

30
29
28
27
26
25
24

— NDWh o

GND

0 o
o O 1
Zz TRR 8 Zz
8 SRR zz 2
0 o« 3
5
)
7
WIRING
24
25
26
27
28
29
30
GND
8 | UVRESIN 2 | LOCBOND P/N : LOCBOND 349
7 | TAPE 2 | CHUKOH P/N: ASF-116T NOTE:
6 | TAPE 1| CHUKOH P/N: SEF-110
5 | FLAT COPPER WIRE 4 | GROUND BAR « Total length: 300.0 + 10.0.
4 | PULLBAR 2 | FPEXP/N - 2766-0301 « Apply UV resin at the end of connector to
3 | SHIELD PLATE 2 | PEX P/N : 2764-0301-002 cover cables both sides of the cable assembly
2 | CONNECTOR 2 | IFPEX P/N : 20634-130T-02 (Fig.1).
1 | CABLE 30 | UL10231 AWGA40 MCX (Z=500hm)
MEM|  DESCRIPTION QTY REMARK

Unit: mm



LI-GMSL2-IPX-DESER

—e

INTERFACES

Interface J7

B Part#: PJ-002A

External Power INPUT for POC

5V0 VCC_POC
J7
B Power Supply: 12 VDC R17. QRING L
3
1 )
c71 C70 —/(—
10uF /25V 10uF /25"
cu:uso{ 0803 P-002A
Interface J4
4
MIP11_D3P 1 33
W Part#: 20525-030E-02 MIPI1_D3P 2> TPT D3N 2 34
M'\l'gﬂ”B?gN ' MIPIT_DTP 3 35
B Number of Positions: 30 MPIDIN  $— P DTN : »
. MIPIH_CP 6
B Pitch:0.4 mm Mpn—on {_MIPTTCN 7
N MIPTT_DOP 8
. MIPI1_DOP PT BN 2
B Mating |-PEX cable: FAW-1233-03 MIPI1_DON MIPT_D2P 10
MIPI1_D2P  So—PrB2N T
MIPI1_D2N = =
(300mm) CMOS_SCL
_ R15. A OR 3
CMOS_SCL A o =
CMOS_SDA TRST Ry oR s
CMOST RSTQ e NN :
MR % FP RGN OR 7
04 FPA4 RO/ OR 18
MEPE & FP5 R2 OR 19
MFP5 20
MFP6 21
MEPP .\ > RIAALR 57
23
R11. ~ OR VCC_1V2 1 24|
V 33V 5V0 25
26 32
VCC_3V3 1 27
VT 5V T 28 36
29 37
{ 30 38

20525-030E-02




g IMAGING

LI-GMSL2-IPX-DESER

—= |INTERFACES

Interface J5
W Part#: 20525-030E-02 I
" MIPI2_D3P
B Number of Positions: 30 MIPI2_D3P > —prp3N ; 23
. M|P|2_D3N < M|P|2:D1P 3 35
B Pitch: 0.4 mm MIPI2 D1P 20— RIPP DN 4
MIPI2_D1N — % 31
B Mating |-PEX Cable: FAW-1233-XX MIPI2_CP 6
9 MIPIZ_CP  2>——WIPT7_CN 7
M Pt < MIPI2_DOP 8
Pi2_ ,__MIPIZ_DON 9
MIPI2_DON - 2—Wp2_D2P 10
MIPI2_D2P 20— MPlz_D2N 11
MIPI2_D2N ™
CMOS_SCL R35, . OR/NC 13
CMOS_SCL =
CMOS_SDA CMDS S R\,f\/\,OR’NC 14
CMOST_RST R R NG 13
s é MFPO R3 OR /NC| g
MFP1 R3 OR /NC|
e < MFP4 R4 OR INC] 18
i MFF5 RAT.OR/NC ;g
MFP6 R42. A OR/NC 21
MFP6 VI VN 5
23
R33._~ OR/NC 24
V.33V 5V0 “ 25
26 32
R43. . OR/NC VCC 3V3 2 27
RAYMOR/NC__VCC 5V 2 28 36
29 37
30 38
20525-030E-02




LI-GMSL2-IPX-DESER

—e DIMENSIONS

12.57 <.
8.4 % _®45:0.15

14.57

14.49
12.7

l
Rl TAm

B

]
7O

==

E
o

L
®

§)4514¢03
2

4.44

27.72

Q NOTE:
o )

* ® marked are
important sizes.

» Tolerances for
others unmarked
are + 0.3 mm.

Unit: mm




REVISION HISTORY

@

IMAGING

Revision

Description

Release Date

1.0

First release.

17 Jun 2018

1.1

1.

2.

Changed 200H lens from F13BO108WM12R1 to E7393E-R8 and updated related
pictures and 2D dimensions.
Added LI-GMSL2-IPX-DESER 2D dimensions.

05 Dec 2022

1.
2.

Replaced 3D images of 200H lens with actual product pictures.
Deleted MAX9296B schematics.

20 Mar 2023

Deleted IP in “LI-IMX390-GMSL2-xxxH" section.

27 Dec 2023

910 Auburn Ct, Fremont, CA 94538, USA
Phone: +1-408-263-0988
Fax: +1-408-217-1960
Email: sales@leopardimaging.com
Website: www.leopardimaging.com

Leopard Imaging Inc.




	幻灯片 1
	幻灯片 2
	幻灯片 3
	幻灯片 4
	幻灯片 5
	幻灯片 6
	幻灯片 7
	幻灯片 8
	幻灯片 9
	幻灯片 10
	幻灯片 11
	幻灯片 12
	幻灯片 13
	幻灯片 14
	幻灯片 15

